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Answers for Lesson 5-8, pp. 289-291 Exercises

1. 1,3 2 -6,-2 11

4. -14 5. =5 -3,1

7, 35 8 -3+ Vg 2+ VT
10. —4,5 1. 1,4 3,1

13. 3+ (V2 18, 1+72 -+ 1
6. ~2+iV3 17, 14 iV2 f8 -3+ 0%
19. 3+ 13 20 7+ VI @wfgi%
2. 13 23. 3+ Yl0 061,272
@ F+95 8054 3 4

26. L + X357 104,138 ~-§¢—\§ﬂ—249089
28. -4+ VB 990,150  29.§+ Y5 019,269
B0 —1+ 2 081,031 31. —4;two, imaginary

0; one, real

35. 169; two, real

32. 36;two, real
34. —223; two, imaginary

@ —116; two, imaginary 37. 1;two, real

38. 0;one, real 0; one, real 46. no

41. 1,10 @2 0,42 a3 31

44, ~3.45,1.45 (45) 1+ i 46, —1.70,4.70

4. -7,7 @8) -847,047  49.3%iV2

50. 1,3 . (51 ~1,6 | 52, —541,241
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